FT—HART HoEFH

F1ER AEREFEMHA
. 7+ L 2. v O O Vv 3. 57
10FA 4. (HX (2OHX B3OV DV
5.2 6. (D20+5=4(F) (2)55+5=
1100 ,18+2=900) 2 JFEEMEH  (3)600+
100X 8=48(FF) ,48<C50, & 1 A Jin i BE B 4%
Fik 7. 32 (1+5+10)=2(Jp),
fi:2X5=10(F) ., K :2X10=20(FP)

2R NREFH
1. 27 mL 2. 5000 1 6 50 3. Z7}
A=A 4.4 2 20 5 (HB (2)C
(3)A 6. 600 ZT},800—600=200(ZT})
7. (1)8X 250X 2=4000(ZF+),4000 ZF} =
4FF (2)200+50=250(ZF}),250 X 2=
500(ZFF)  (3)200X7=1400(ZT}),1 X 2=
2(FF) =2000 Z T+, 2000 —1400=600(ZT}),
BEWESE, AF T 600 ZF 8. 260+90=
350(ZF), 350+-5=70(ZTF}), 70 + 90 =
160(ZF)
% 3R IR

1. Z2H =Z=AH =HA H H 2. 2000 38
9000 5500 4 600 3. = < > =
4. (DC (B (3)A 5. 400 600 750
(1)250  (2)4004 600+ 750=1750 (ZF}),
1 FF=1000 Z7FF 1750—1000=750(Z T
6. (D2 FF=2000ZTF}, 2000 = 4 = 500 (2
7,3 F+=13000 2 T}, 3000+-5=600(ZTF}),
14T L—2  (2)4 X250 X 7="7000 (%
F),7000 Z2FF =7 F+  (3)200 X5 X 2=
2000(ZF+),2000 ZF=2 F} 7. 250 ZF}
F R T =TLIBERAFTLELIK
£ 1R BEEEHH(EA—H)WOEMER
1.6 6 7 7 5 5 8 8 2.4 8 6 9
4 7 3.V X IERE 4. 10 9
Seeeoes 59 8§ 8eeeees 45?@%3113%5.85
2 10 4 20 6. (1)320+-40=8C%)
(2)D9 6 3 2 D180+40=4(IK) ++++--
2005),4+1=50K) (3)276—66=210(T
5,210 =70 =3 (/NBF) 7. 540 + 60 =
9B, 9+1=10F) , 10X 2=20(#D
F2RN REESETH(HAWMLHB)MEER
1. (D4 7 (H>— MW (3)510
20 foeeeses 60 Qeesnes 43 12 eeeees 3 3. ><
X IEE 4. (1)280+10=28 (2)I%

01

: IR By 4 4 9 AR AR
- SEEE

5. (D2 F=2000 ZTF},2000-60=33(Hf)+---+
20(ZF)  (2)430+-30=14CHE) --+--- 10(0),
14+1=15C#) (3> D30 X 15+ 15 =
465(J6) +2804(30—20) X 15+15=445(J0) ,
360+15=375(J0) ,465>>445>375, &% /DB
37596 @465 +31=15(JG), 445 + 31 =
14(TT) eeeeee 11(J6),375 =31 =12 (J0)
30D, — IR MG EE 30 sk B fHEL 6. 130 X6+
12=792,792-+60=13++- 12
% 3R %R

......

1. 9 4 20 540 400 72 2. (LA —
6 (2)7 6 (3)739 721 3. = > >
< 4 LI 15eeeees 28  —AfP%L  5eeeeer
28 5. 688 15 300 999 6. 20 20

20 20 20 ZEICAS Y B A SE BT
AR R A5 R, 280 AR 1 B AN AR (R RV B
") 7. (11 FF=1000 2 F, 1000 — 280 =
720(ZF) ,720-60=12(#) (2)5—1=14,
80+4=20(H),360-20=18(J2) (3)D408+
312=720C4),720+-9=80C%) @640+
80=8(/r%h) 8. 847+60=14++--++ 7

F 4R AESENZRE
1. ()40 4~ (2)60 + (3)5 6
(H1~6 6 2. 30
50 5 3_ 5 ...... 5 35 ...... 2 11 ...... 24
B W 4, 360 —3=357(J0),
357+21=17(J8) 5. 37—5=32(43),256+
32=8(K) 6.7 7 9 7 7 7 7. (1)344-+
43=8 (f£),429 =39 =11 ({4), 369 = 41 =

oM R L, — B> (2)192+24=
8(W),13 X 8 =104 (M) 8. 850+ 157 =
1007 ) ,1007+19=53(Fb)
£ 5IRE &SR

1. (140 4~ 40 P (2)369 20 13
3H> < > > (D11 2. B 40
. 7 ...... 27 ﬁﬁ 15 ...... 42 —_ 7 ...... 41
3. (D442+26=17 (2)672+42=16
(3)395+-42=09+-+--17 4, 5 104 9

5. (1)170+=34=5(&) (2)506 —26=

480(H) ,480+52=9(FK) ++---* 1208 ,9+1=
10(K)  (3)185+229=414(H),414+46=9
6. 122—8=414,8+1=9,[%.414+-9=46,
A% .46 X 8=1368

%6 IRAET ERRAYELEREE
1.7 6 80 9 30 920 20 0 O



2. 12 12 66 66 3.% 4. W

5. (DFE— 11 X4=44(F), 264+ 44 =
6(%) ik —.264+-4+-11=6(1E) (2)6+
6=12(17),492 ~ 12 =41 (K ¥ % m
(3)—#H :432+6+18=4(1), —4H:630+7+

18=5(14) (4)10X4=40(H),480+40=
12(78) 6. £ .240+6=40(K),40=+2=

200R) s H 2240 - 10=24 (K), 24 ~ 3=
8(X)

£ 71RE SR
. 32 7 B BOmE
2. (D12 13 12 13 (DO (312 64
3. (HX (DOV 4. HHI N, 144+4+9=
ACHY) B 8 AR s Ab 78 1 HoAth 5 4R 51 5K,
5. (1D)2X3=6,480+6=80CK) (2)3X
12X5=180(JC), 216 =3 +12=16(JC)
(3)60+9=06 () ++=++- 6(A),9X6X25=
1350(70) 6. M AT —3, &% 24T 3 3,
45-+3X2=3004})

IR MNEEH
1. (D20 K /N (2)60 7 448 K /h
6 (3)4 6 2 2. Seeeee 82  3eeeene 70
foeenns 58  8eeeees 46 geEmE 3. X X &
EWE 4.7 7 6 7 7 4 5 (1)400—+
82=4 () eeree 72(J0) (2) 32 X 30 =
960(1~),960+24=40(1) (3)160—76=
84(M).84+21=4(A4) (4)393+ 44 =
SR ) reeen 411,87, — AN BRWFE AR
6. 27X26+18=720,720+72=10

F R ENEAH

1. (D30 /A K (60 8 512 Kk /©
7 (317 356 2.8 7 9 3. 21-16
6 7eeeeerd0 53 KB 4.7 8 10

(1) &% /b, 500 + 31 =
16 (A eeeeee 4(JL), B Z. 500 +— 18 =
27(A) veeees 1400 (134358 (3)31—5=
26(43),546+26=21(K), 3 7 H 21 A45H
(4)258=36=T(K)eeeee 6(T1),7+1=8(K)
6. 598 —52=1546 (M), 546 ~2=273 (M),
273-13=21(K)
£ 10 R &SR (1)
1. (DD (B (3B (4HA 2. (1)56
(2)27 (3)62 (4)15 3. 11----- 19 Qeeeees
20 10weeee 15 Qeeeee 10 8 7 4.24 5
4 5. (1)58 K (2)990+45=22 (%K)
(3)DOH ;540+45=12(K), Z: 540 + 36 =
15CKR), N :540+27=20(K) Qm% 6. B
£ 1R &3] (2)
1. 4 4 2000 4 7 5 8 0 0 2. (D8

8 8 6 S.

42 (2)9 57 3. UL—1PLHE  5eeeees 40
Deesoes 10 17 20 cenene 8 10 eeeees 12
1Qeeevee 12 4. (DA (2)B (3)B (DA

02

5. (1)52—37=15(T%),210+15=14(JD)
(2)240+40=6CHki),6+3=2Ck) (3)40+
25=65(N),780=+65=12(J6) 6. 36+28=
64(A),64+(7—5)=32(AN),32X5+36=
196 (A)

F12RE BWATHME

1.8 5 8 30 7 5 8 9 6 2. (X
4 ()= 10 (3 X 10 4+ 3
3. (D40 40 (2)24 24 24 (3)37 37
(46 46 46 4. (DV ()X (X

(DHOX 5. (1D120+24=(120+6)+(24+6)=
20-4=5 (2)500+125= (500 + 25) +
(125+25)=20+5=4 6. (1)48 12 120
32 240 (2)32+8=4(J0).64+4=16(Z),
4+-2=2(J0),64+2=32(A) (3)780+13=
60(7K),780—60=720(5K) 7. 3334 33334
FI13IER HRHEMBREKRELE 0 HERE
1.7 13 19 13 17 32 7 13 12 2. (18
12 ()75 5 (3H»D29 20 @29 200
3. X X BIEmE 4. 19 Qe 10
23 eeses 10 15 17 eoeeee 10 14 eeeees 10 g(ﬂ\%j
W 5. 12 12 12 12 #k B 50R 5 %% 6] i
P RAMFE SR AZ 6. (1)235+65=
300(T%),300 =20=15(T %) (2)120—+
10=12(J6),12—2=10(J56),120+-10=12(T
T (3)450 =30 =15 (El), 500 = 15 =
33CHEN) eeeeee 5(J6),15—5=10(J6) 7. 142X
25=23550,3550+50="71
F14F BEE5%3(1)

1. 6 21 15 32 17 42 8 39 21
2. (1)27 5 (2)8 1440 (3)12 467
(4)6 10 6 1 (5040 /h~ K

17 eeees 10 8 AW 4. 1000 —472 =
528(J0),528+88=6(1) 5. (1)410—82=
328(Hf), 328 +82=4 (2)830—2=2828,
828=+(22+1)= 36, 36 X 22 + 2 = 794

(3)301+43=344(4),344+43=8 6. 47X
6+5=287,287-T74=23+65

%15 R BIES5%£3(2)
1.9 6 12 19 7 3 14 4 12
2. (D9 (27 6 9 3 (37 9 (46~
9 1~5 (56 6 9 4mF 12 3 (6)59
3_ 15 ...... 40 8 ...... 58 8 ...... 22 ]4 ...... 3’7
LER 4. 240 180 144 120 K&
5. (1)534+89=6(F) (2)395+79=5(/h
B (3)216+18=12CK) 6. 228+3+2=
38K . a3 228 +2-+-3=38(}H)

£ 16 R BEHEER
1. 3 JAwHz w 2.4 OO A O
3.0 4 C 4. = 5 ®m 6. (1)30—+
T={feeees 2, MY (2)49+-5=0-- 4, W0,
(3)D36—12X2=12(%) @2016—1981=



25,25-+12=2------1,J@ X 7. W 16 %5
J& 9853, 9835, 9583, 9538, 9385, 9358, 8953,
8935, 8593, 8539, 8395, 8359, 5983, 5938,
5893.5839, %% 16 P HE 5839

F=H T WEBEYR
F1RF M@ AmENEEREYE
1. (LT A £ OF A §®i DL

A (33 2. <1>>< [ <2>>$<
3.0 A b 4/ 5 A 5 (DA
£ (DETE)E (O AWA
E2BE UWRHLNBEEKRWIEFEK
BRHK(E)FE

1. (1)% (Z)W 2. (D8 27

(3 1 .W41275H§
6. 5 57
F 3R WEHILIRHEX
Y 1E 75 48 R B9 0 4k
1. (1)\// (2)\)(‘ 2.>< I
3.4 ® F 421 5 (LOOG 2D
3HO®
6. [ | ] ]
L] | |
%430 £3IE
1.>< I 2. (LOOO® (2)O®®
3D 3. (3 1 6 6 1
4, (D[ ] [ ] (2)42

|

554 74

BB R RitRIEBLETE(—
£1RN EEMKITEINEEEITE

1. (DFEK HE EW EL 2. EHK

(1)40~50 43 30 AT (2)mg 3. #EH

3583 WEPE 1960 4. B%

F2RN BEIBEEESSIT
1. H“IE”Fmg 5 7 7 1 2. (1)150 97
()11 5 3 1 (3)144~150 136~143
97~135 3. 10 8 4 2 HEmBE (1)24
(2)130~149 10 110 AT 2 (3)10+8=
18C A
£ 3RE &SR (1)

1. 244 6 19 130 27 660 640 26
770 2.2 16 4 4 KWEE (1)30~44
30 LLF 14 ()10 (HEg 3. (1)5 11
4 20 (2)20 (3)3 130~139 140~149
4. 900+3=300(F),H :300+80=380(F}),
Z,:300— 80+ 30 =250 (F), A : 300 — 30 =

)

270(FH)

F4RER &SR (2)
1. (D750 4 6 7 90 400 (2)20-+-- 4
16eenner 6 2. (D10 (R 75 HkF
40 3. (LOH = (2)50 4. (12 4
8 4 (2)18 (3)80~89 8 60~69 2
5. 96 100 85 95 65 84
FSIER FHH
(OF (3)8 18 12 (O
2. (DX (2OX BOX WV 3. (DA
(2)C 4. (1)91 X3=273(4),273—92=
181(43),181—86=95, ¥ & 85, WiF 96
(2)(32413+45+42) —4=33(i), (32+
13+454+42) +=12=11(M) (3)98 X 4=
392(43),392 + 113 = 505 (43), 505 = 5 =

1. (D25

101(4%) 5. 60+ 40 =100 CK/%4+), 100 =
2=50Ck /4

%6k %R
1. (D86 (2)115 2. DV 3. (DA (2)C

(3)B 4. (1)@(88+91+9o+92+88+89+
99) +=7=091(4r) @91+ 90+ 92+ 88+
89)+5=90(4) (2)6XT7—5X6=12(T )
5. 96X 4=2384,95X 2+ 98X 3 =484, 484 —
384=100

BRI FRIFIGEEHIReE
£ 1IRK fRREFAIREE(1)

1. (DB AL Z A (2O IFE—
R 2D O PE—HEL2 0 A
(4)27X5—23X5=20(#) 2. 6 32 12

20 (1)32X6420X12=1432(F %)

(2)20X12—32X6=48(T7&) 3. (1)600—+
5—420+-6=50(T2K) (2)300 3 40 2
7 (300—40X3)=2=90(00) 4. H 7 F A

RWEExE. Ol1+1+1+1+1+1+14+1=
8(1t) @2+1+1+1+1+1+1=8I0)
@2+24+1+1+1+1=80C8) @2+2+2+
1+1=800) ®@2+24+2+2=80L) ©®5+
1+1+1=80) @®5+2+1=80L)

%2R RRBBMAIKEE(2)
1. ()50 5 40 5 45 6 50X5440X
54+45X6=720(ff),720 fi=72JC (2)50
5 40 5 50X5—40X5=50(f),50 fi=
5J6 2.2 380 3 810 810+3—380—+
2=80(Jt) 3. (D18 1 38,9 2 22,6
3 18C=HIM AR, K I A B K B K 2
38 JEK  (2)540+6X12+540=1620 (%)
(3)672 32 21 96 7 32X21+(32+
6)=T7CK) 4. F#£.34—31=3(F),
T7—3=74(%), iz%izf&.m 2=37(%), 37 —
31=6(4F)

£ 3REE &SR (1)

1.2 40 5 90 20 18 2. (D1 A%y



KZ/bju S5 AKRZGAXRZLIm (DOEHAERXR
AUELZLIA 3. (1)24 12 60 80
(2)48 5 96 9 4. (1)82—58=

24 (JEK),106 —82 =124 (JE k), 130 — 106 =
24(JHA),250—58=192(JE %) ,192+24=8,
8§X2=16/NI})  (2)D48X5+4=60(JG)
@48X5+24=10(T) 5. (44—12) +4=
8(K), 12 X (8 + 1) + 4 X
(14+2434+4+5+6+7+8)=252(H)

£ 4RF &SE(2)
1. 484 116 36 36 2. (1)20 (2)15
3.6 24 8 16 7 18 IHFHE.24Xe6=
144CT50) M F:16 X 8=128 (T 50) , #8 +.
18X 7=126(F3) 4. (124 ¥ (2)72X
12+(12—4)=108(JC) (3) (600 —240) =
(240+2)=3CNM) 5. &AW FE A (156 —
108) +(4—2)=24 (T %), il 4 Jit & . 108 —
24X 2=60(T3%)

BT T

£ 1iEr —rﬁa'rft&—r ‘é'riH’chIJ\

1. (L—%& (Afe GOAAEE (AR
z.% 3. (e za& <2>£K§<E‘z$ﬁ%>

4. (DX @0 B3HO 5 (LC (C
(DA 6. (1D6 ¥ (2)3 2 3 ¥
(3)6 41

£28F &g
1. (D4 # 4 ()—%% =4 mw
3 A—R e F W 3 A& 2, (DY

(OHOX OHOX 3. (LEREM (OFAR/
Bimr 4 PMHEEH4 ARG 4. (DD

(2)C (3)A B 5. ANV, BB
FEHpRT BEHWONREZIE
F1RN FAEESHEREHE
1. 556 15 920 272 FRE  hmE 2. (D15X

9—21X5=30 (2)36X5+4+720+9=260
3. (1) X,7564+44+2X3=756+22X3=
756+66=2822 (2)X,698—34X9+11=
698—306+11=403 4. (1)3 X 160+ 40—
10=2 (2)45X12—894+-6=391 5. (1)29X
4-+15X9=251(J8) (2)300+5—180+6=
300J6) (3)6X6+6+6=12,6+6+6+6=
13,6 X6—6+6=35 6. 18+18X4+16=
106 (F58)

F2RH SEESHERIEHE
1. (1D96—18)+2X3 (2)(96—18)+(2X

3) (33X (96—18+2) 2. 251 729 235
591 3. 400 400 25 25 4. (1) (48—
32) X (28+85)=1808 (2)(240X2+120)+

5=120 (3) (153 — 15 X 7) X 5 = 240
5. (1D66=+3X9+66=264(H) (2)120—
28—28X2=36CK)mi#H 120—28 X (1+2)=

04

36CK)  (3)(800—145X5)+3=25(Tii)
6. 500 — 48 =8 X 76 = 44,48 = 8 X (76 +
44) =720
£ 3IER &R

1. 253 936 384 78 2. > < > >
3. (110 280 (2)30 126 4. 4 T k=
4000 %, (4000 — 340 X 8) =4 = 320 (k)
5. (1)(126435) X2X5=1610CK) (2)240X
8§+(UX4)=120(H) (3)(70+14-+14) X
14=266CFHK) 6. HE

F4iRH SEHESHNREGEE
1. (1)6X (500—200) =50 (2)6X (500 —
200-50)  (3)6X[(500—200)+50]
2. (1D(81—56) X (16+35)=1275 (2)297+
[3X(51—18)]=3 3. (1)192 (2)15
(3)6266 4. (1) (450+30+12) X5 450+
(30+12X5) (2)86 5. (M1 PF. 97+
76— 45X 3=38(A&) PY(2)P .97 —38=
50(A)  PH(3HPE.76—38=38(A&) (2)48+
48X 2+12=156 (M E#H 48X 2+ 1) +12=

156(4) 6. (32+88)X2--8=30(HL
FSIER %R

1. (Da=b—c)Xd 2)a+—b—c)Xd

(Da+(b—cXd) 2. (1)705 (2)16

(3)5250 3. (1D9+(5—2) X8=24,(9—

5)X(8—2)=24 (2)19 4. (1)48+16+

462 (2)912—84=(2X7) 5. (1)14X

25+12X16=542() () ZFF[H.23 X 6=
138 (AN), Fk By 5. 138 X 2 — 28 = 248 (™),
1384+248=386(4 ) 6. 132+ 12 — 112 +
14=30D)
FANBR R FwEAREFITX
F1IRE ARSK . BELMA

1. (D2 P 1 HE BH (O4&E
X 1 X W ~ L1 fA—
2. (DX (OOV v DOV ()X
6OV 3.1 4. (DC ()C 5. (1)1 8
6 ()4 6 4 4

F2RN ANEE
1. (OEfAd FE ° (DO1F 1° (39
180 (4)140° 40° 2. AN M K/NY
AW KT R/NAE L 3. (OB (2)B
(HC 4. FE¥mg =M =ANAKMET
180° 6. 360°+12X5=150°

FIER %R
1. 100 80 2. (DV (Vv BV WV
3.0m& 4. BSOS, fE, U7 IR R AR A AL AR SE
JEEmE 6. W 7. Bg

F4RE AOKEMEAR

1. 8if.45°.42°.36°,12° B ff:90°
115°.165°.95°.176°.150° V4 :180
360° 2. BEgmg i B B3,

B .
(DF



180° ()4 360° (3)2 2 4 (D
(5B 120 (6)30 B (7)360 JH
4. % 5.3 4 2 6. 240°+10=24°
FSIER &3
(2)2  (3)25 115
OV 3OV WV
)X 3. (DA (DA (3HC (DA
(5OA 4. 60 % 180 ¥ 360 JH
5.8 6. £/1=180"+(5+1)=230° 2=
5X30°=150°

1. (1) 60°
2. (DHV

295
(5 X

% 6iRM NIRELZ
1. (L% 1 | (OHOFLE HE
(HAC W 2. 3. (HB (2)C 3)C
WHC 4. (HOX (DOHX 3V 5 1%
6. 6 12 5 8

£ 7R BEEZK
1. (Dv (DOX OV DOV 2. B
3. OC LB 4.m% 5. (Db AW
Tk KW (2) 3/ NEL K 4 i A 28 TR 0
6. 16 41

£ 8 IR INRFEITE
1. X v X Vv X Vv 2. (D¥fr

(OME  OFIT Fir MHE (D2
GO 1 3. (Hhv (HX (X
(WHX 4. 8% 5 W% 6.4 3

F9REKM iR
1. (DX (@OX B3OV 2. W 3. (LC
(2)B (LA (DB (5HOA 4. W 5. imH

A SR FRAS AT EE A'Bd HE A'B 5B
HHLWAE 058 A8 B &, k] LU
5 3] i i 28

£ 10RH BES5%Y
1. (H® OO OO H¥fr E&EH F
BOM% OB 1 (LHIELBE 2. 8
fH.36°.78°.45° fliff.115°.165°,95°
3. (O (OX DOV DX BV
(6) X 4. WF 5. (1)8 1 (2)10
6. /2=90"—58"=32°, /3=90"—32°=58"

F11RR EHREESE
1. L) I AR AT DA JBCTE A R A8 R % & 1T | 12 42
WRk, (BRI ()&, bz
EIB IR/ 2. (DR /N (3)>DI155
@208 D236 (L) RIAS H T I 2 30°,
WA TR B IR e AT L A T S 1) e AR 2 607,
YRR IE B e (5) &4 5 M T AY e £ Bk
AN IR TR I BB S G 5 AR T M T Y e
KRR B (6)phm b, & w5 i
AT Y e B L R N TR R LR Bh S T
B AG 5 RHE 5 M T Y SJe R /N P AR N B T VR
Tha.EsgiE 3. (DB A (2)A C
(DA 4. Fhim 5 o 1) 3 f A\ 9148398 8
) BE Bt AN — B (S ARk T T Y e A R,
WA VR I I R A L ) TR S b T ) ST A D

05

R TR ) A T )
TR XIBSRI
F1IRM AR (1)

1. 15 7 130 138 540 1000 120
5 2 21 ...... 9 22 15 ...... 17
BAm 3. (H— +fi (230 —+
D1FH2 3 WHO> < = < 4. (LHV
(DHX (3HV 5. (1)390+26=15CK)
(2)60X25+20=75(CK) 6. 6 JC 6 f4 =66
LA 66— (42X 3+5)=6(f), 18K,
4=-2X6=12(f)

= 2t
1. (D B T

27

5 (2)

(2)19X2—450+50=29
(3)640 32 2. 361 1920 3968 860
451 32 3. (1)B (2)C (3 C
4, (1)1440+18+4=20(%) (2) (520 —
200)+=(8—4)=80CK) (3)/NH.60+(1+
2)—5=15(H), /NI .60+ (14+2) X2+5=

45(HY) 5. 82+4X3=94(4)

F 3R BEEITE
1. (LZEFHF F JF+ ZJ 2OH> = >
= LB 2 WHL 1 KE G
& W WA 2. (DC (2)A (3)B
3. mg o o
Nennnl -
5. /1= _,3=130"°—90°=40°, /2=90°—
40°=50°
6. fi: [ | ]

L [

b6 [

=

F4IER FKitXi
1. (LA EE AlfE AAHRE 4 (2)4
(HEK HE 2. (ODV (DX B3V
3.3 5 9 10 3 ()30 (221 (3)150~
159 10 (4)169 120 (5)156 4. W%
FSEN NRAIf
1. (g % (D1 (7 6 (DOLEBFENR
Me— DO AOLAOAO e
QUOOO0AOOOALIOA - - (5)100
40 2. (1)1 /NE} =60 43,25 X 8 X 60 =
120007 K)  (2)(20—4X3)+2=4(%)

(3)16X14+12X15+19X13=651 ()
(4)35X2X2—10=130(T%) 3. g



F—BTKE

60000 17

SEIN2 12 =2A

5 55 W
F.1. 1 FH=1000ZTF},1000=200=5Cf)
2. 4 FF=4000 ZTJ},4000+-8=500(ZFH)
3. (200+50) X2=500(ZF) 4. 2 J} =
2000 ZF,200X8=1600(ZF}) .2000>1600,
WHEIGSE 5. 1380300=4() - 180 (%
), 4+1=5() 6. 10X 8X45=3600(T
) 7. 320X 15+ 12=400CK) 8. 32X
30+48=20(4) 9. 2000 mL=2 L, 340+
2=170(4%4) 10. 86X35=3010(T %)
FETlikE
—.1.8 6 2.26 350 3.5
1151 47 4. 1 & 5. 7~9
5 7 3600 7. 4 70
24 4 14 9. W& 10. 40
12. 5 75
—.1. B 2.C
7. A 8. C

335 41 8

1~6 6.1
KX 8. 3
11. 27

/N
40

3.B 4. A 5 A 6. A

=.1. 13 23 13 & 2.9
3. 246 161 493 15 286 189
M. 1. 162+3+6=9(K) B 162+ (3X6)=
9(K) 2. 500 = (58 +36) =5(FE)
30(T8) 3. 40060=6(A)eeee- 40 (JEK)
4. 180+ (60+4)=12(K), K .60+4=
15(50), 15X 12=180(H) 5. 396+ (154 +
14)=36(K) 6. 360+-24=15CK)., (24 +
15)X2=78CK) 7. 424-4X12=1272(JF)
8. 288+32=9(K) 9. 108+3+2=18(#
10. (139+4275)+23=18 11. 900+ (750 +
15)=18U4M

F=ZBRTllRE
—. 1.3 1 2.8 Lk & 3 (DAMm §I
m b @Lbm Am w4 (HOO
@® @O GGHOO® WRB® 5. 8
27 6.9 7 7.5 6 8 10 17 29
8. (D4 (2)3 (32 (10
Z—.1.D 2.B 3 B 4.C 5. B 6. A

=.1 2. (1)>$< (2>>< I

M, 1. — |
| |

15 12

L[]

06

E.L.8 2.4 3.2
FMmEBaTNitE

—.1. FHE HEK 2.8 3,185 179

4. 125 131 5. 270 6. 42 7. 10 12
8. 2400 9. 6 10. (1)20 (2)141 145
(310

—“.1. A 2.B 3. C 4.B 5. B 6.8
7.D 8. D
=.1. (120 2 4 10 4 (2)40 49
(34 2. (D= (2)66 3. (1)140~149 &
K150 EARKELLE (OB (DI 4. (DE
g (2) DN @@= m 11 28
(3)(11+13+24+24+20+28) -6=20(n)
5. (90+89+88+92+86)+5=89(4)
6. (DEWE (2)D2008 4 @(5+16+16+
32+51)+5=24(FD

il (A)
1.3 5 2.M 30 /M 3+ W 4.2
5. 36 554 6.
26
ﬂ

)—‘OJ[
w

120 3 20 20 3

EEE B

v
Do
(e}

2 5 7 6 REIE

FH 1, 169-4=42(4]) - 1(3), 5 169 &=
JTRAT Y, 42 X 24+ 1=85(2%) 2. 600+
20-3=10CK) 3. 162+ (3+3)=27(H)
4. (150—72)+26=3F) 5. (1)728-+13X
9=504CK) (2)952+(728+13)=17(4})
6. (167+215+362+156)+12="75(If)
ik (B)

—. 1. F =ZF F 2.4 8000 180 5
800 3.4 8 4. — 6 5.70 9 6. 21
30 7. 1 8.25 9.2 3 10. > < =
>

Z.1.C 2. A 3.C 4. C 5 A
=.1.7 18 9 96 6 75 0 120 3
26 2. Geeeeer A2 Teeeoes 38  Geeeees 70 gﬁ%j
H% 3. 2] eeeeer 20 D()eeeeee 200 16eeeeee 140
RN S

O I |

FH. 1. 360+-4+-9=10(%) 2. 828=+36=
23CK),(36+23) X2=118CK) 3. 95X3—

88—97=100(4}) 4. 9X14X5=630( )

5. 1200 =40 =30 (JG), 1200 = (30 = 2) =
80(4) 6. (1)20 32 28 8 (2)iExk
PIEER 52



FRBTNNSE

—.1.4 30 2.8 92 3.4 28 5 30
7 6 4.9 5,12 8 18 14 20 5 16
8 6. 492 12 7. (LEEY T LT
6 APt t£it (& AMEREREELLH
ZH 8 12 9.1 512 10. 264
Z—.1.C 2.A 3.C 4. C 5 A
g, 1. (D BHE 34 A& 18 8
WE | §A FA 5 IT
18 X 3+8X5=94(J1)
O\t | 34 | mk18x
FERE | 10 A HA 3T
18 X3—10X3=24(J0)
20| =apgh | 8 AVHE | HIE 48 A
PUAESE | 9 ANEE | AEBE 46 A
48X 8+46X9=798( \)
3. D grp | a4 | HHsA
WERBN | 34 B 12 A
4X8+12X3=68(N\)
D\ rrp | 44 | mwasA
WERBN | 341 | 12 A
12X3—4X8=4( )
L omw | sk | miTom
#FF 8 11 AT 7 R
HZ 4 fF BAT 5 AR

8XT7—4X5=36(HH
6. 96-8X5=60(iH),
84-(96 +8) =T7(4r%p) 7. (1)384+6+
32=96(JC) (2)64X6-+-4=96(7C) 8. 60—+
12X47=235(T35) 9. 200=4X6=300(T

5X6-+8X7=86(H)
5. 36 X5=180(J1)

#).800+ (200+4) =16 (/NEF)  10. 50 X
4436 X5=380(4)

FARBTNKE
—.1. S(EES M) OAKAfg
2. (OD—%E A[fE DHAIHE D—E
GHAlfE (OZ&H /R 3. (HE  (2)7

(4 Nersk 4 4HEBR 4. 2 BIR—5%
AR AR 0D B AR CRE SR R TT)
—.1.B 2. A 3.C 4. C 5 A

07

S

M. 1. (HEEBOm
%4 2. (DS

)RR E (DR
(Z)ng (3)“177“27’51;%
AR A B A]

LB 2.7 % 30 AFH Mz
RS T BN 4. AAE W NS
KAYE(6.7.8.9.10) L T It 5 /NEI %L (4.3.2,
D HFER 5. — SRR /N, = 55 X I,

AR AP AT

FtBaxlliis
— 1 Bk omik o wik o 20 (1) (742 —
42X 15)+56 (2)540+[12X(80—75) ]
3. 64 4. 840 660 930 5. 30— 150+
2545V 16 X (70 —50+34) Vv 6. >
< < < 7. (1)1200+(37—7X5)=600
(2)1600+[2X(25+15)]=20 (3)1536+
(16+26X15)=6 8. 175
Z.1.A 2.B 3.C 4. A 5 A 6.C
=.1. X 2. v 3 X 4. X 5V

M. 70 386 1230 10 185 12
F. 1. 84+84X3+12=348(F) 2. (1)600—
340=260 (M) ,260=4=65(ME) (2)(600—

340) =4 =065 (M) 3. (373 —19) ~6 =

50(9C) 4. 32X 6X2=2384(TW) 5. 432+

9X 6 = 288 (J1), 432 + 288 = 720 (J1)

6. (123X2—60)+3=62(TK)> 7. (187X

9—58X5=493(J0) (2)87X9+46X10=

1243(J6) 8. 8X8X 200+ (5X5)=512(H)

9. 315+3X(3+5)=840(4A&) 10. 3 X8+

6=4 (/M) .3 X8X 2+ (8+4)=4(T )
FNBTNRE

—. 1.2 1 0 H%Z% 2. I 1 6

3. Bk B 40M% 5.1 6 03

6. B 90 7.1 1 8 90° M|H ML

P 9. AR T M 100 16

11, aﬁ-ﬁ "o Fm Hifm A

X 2.V 3 X 4.V 5V

7. v 8 X 9. X 10. X

B 2.A 3B 4. B 5 C 6. A

ﬁfx_

A1 S1=180"—40°=140°, /2=180"—
140°=40°, /3=180"°—40°=140" 2. /2=
180°+ (14+4)=180"+5=136", /1=36"X

EIHP\I

4=144° 3. /3=1230"—180°=50°, /2=
180°—50°=130°, /1=,3=50° 4. 15 %
5. 18 13

TMEIE(—)
—.1. 30 3200 2.20 755 3.2000 4
10 6 13 25 4.6 5 5 < > =
< 6. F+ F =H A 7.5 8. A O
9. 36 10. 12 11. 40
“.1.B 2. A 3 C 4.B 5 B 6. C



=.1. 100 100 1600 120 5 4200
1000 5 2. 18 8eeeeer 20 7 25eeeees 10
18+eeees 13 20eeeee 7 OBAE 320 9 30

MO, 1. W% 2. 200 800
F. 1. 5 F=5000 Z F, 5000 — 350 X 9 =
1850(Z ) 2. (238+8) =44 ="5(H) ++--
260 A),5+1=6H) 3. 720+2+12=
30(IEDELH 720+ (12X 2)=30(1E) 4. (160—
76)-28=3(4) 5. 960+ (720+12)=16 (4%
) 6. 224+-2-+-4=28(AK)HiF 224+ (2 X
4)=28(7A)

TmMEIE(D)
—. 1. (LARTHEE () (3) 7 fig
DH—F GOAfFE 2. (L ()3 (3)6
ANEER 6parrk 3.3 1 4.0 A b
5. (DB ()A (3)ACD 6. 4 1(EEARN
ME—) 7. 2
Z“.1.B 2.C 3..C 4B 5. D 6.8B
=.1.8 810 6 433 5000 100 8 6

3600 94 2. 22 6 eeeees 29 5oeeeee 49
18+++++9 3. 100000 2700 18
I7_T|\1.>< I

2.

E.1.2 2 11 7 ()W 2. (120 5
7 4 4 (2B 3. (1)(90+92+88+91+
89499+88) +7=91(4r) (2)(90+ 92+
88+91+89)+5=90(4r) 4. (L= ()=
38 8% 39 (DM  (LBE

EmMESE(Z)
—. 1 BR¥k mik wiE 2. (1) (954 —
42X15)+37 (2)8X (600—600=40) 3. 9
45 4,5 92 5.4 4 5 20 1 4
6. < = > > 17.640 8. (1)720—+
(19X2+42)=9 (2)16X[2X (48— 12)]=
1152 9. 480 10. 30
—.1.B 2.B 3. C 4.C 5. C
=.1. 1000 12 70 8 48 7 4200 7
7 5 2 22 ...... 10 19 ...... 19 13 ...... 11
WG 3. 315 4321 36 23 30 3200
M\

FH.1. 5X124+8X5=100( ) 2. #LFHEK,
IR 12X8+16=6(J0), .12 X8~
48=2(H) 3. 7014 X16=80(H ),70+
80=150(4) 4. 18 10 6 12 15 7
(D6X124+15X7=177(TF3) (2)18X 10—
6X12=108(T3L) 5. (147 —63) 7=

08

12(H),63+(10—7)=21(m) 6. (1)10X
4+18X5=130(1 ) (2)18X5—15X3=
451

TmMEE (M)
—. 1. P4 FEH 2.6 3.125 55 35
4. 60 5. 60 6. 90.60.360 7. A3,

% 8. T.E.H;E.N.Z.H;E.H;A.K.X
9.3 10. 1 11. - 4 #i
Z.1.B 2.C 3.C 4.D 5D 6.C
7. C 8. D
=.1.8 3 120 400 7 10 30 2100
325 7 2,19 23 1leeeee 37 13eeeee 13
3.291 108 20 71 48 152
M, 1. Frg 2. F#g
3. —

[ ] @ (T[]
AL (DB (D= = = K
2. JE¥WE S1=,/4./2=,/3

HARMIXE(A)

—. L (LA DO=H Q= W=EF
2.1 2 3.4 4.1 5 24 324 6. B 4
7. 3000 60 8. A [] 9. < < =
10. B F 11. 4 5 12. AJRE 13. 106
Z“.1.A 2.C 3.C 4.C 5 A
=.1. 410 600 8§ 130 1200 10 450
73 2 22 ...... 20 7 ...... 38 19 28 ...... 6
8 7 IeEmE 3. 855 462 372 9
M., s

F. 1. (320+430)+50=15(&K) 2. (160—
76) =14 =6 (1) 3. 840+ (34 +36) =
12(J6) 4. 35+35X3—24=116 ()

5. 960+ (720+12) =16 (43 %h), 16 — 12 =

A8 6. (157+154+161+155+149+
160) ~6=156 (JE£)

HARMiX%E (B)
—.1.3 4 2. &BH 1 3.2 4 4. 12
5. = < = > 6.112 7.3 2 1
8.5 9. 1 1 21
—.1.C 2.C 3 A
=.1.40 4 120 300 5 8 90 212
2. 19 8 10+--e 40 23 EREEE 3.9
120 3300 882 6 245
m ., g

FH. 1. 1600+2X5=4000CK),4000 Kk =4 F
K 2. (1)584+46X2=150(75) (2)150—+
35=4(Rl) eeee 10(76) 3. 12X 35+20=
440(A4~),440 > 420, NiE 4. (120 — 28 X
D=4=9(HH) 5. (D3 4 (2)TEME
(DOARANF 1.2.3 ¥ LA /NAB.4.5.6 5]
BONAE B 1.2.3 W B /NN, 4.5.6
N



